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

C
e

B

Iβ =
I

 IBICIE 


 


 

#
 

#  
¼½¾1 
#3V 

2 – 3 – 6– 
#emfmaxemfeff0.707–2– 
#

–– 
#1:5

5:1- 1:5- 1:1 
#50Hz




1 1 1- - -1ms
120 600 750

                        (30=2×180×50t 


3

1
00

60=2×180×50t 

#emf 



 
emfF 
#0.5 m0.4T20 m/s

6Ω 
0.5- 0.25- 0.667 - 4 

 
#

9090 
#10μF200 V

50V 0.01 S

0.15 A 
-5Δ V 10 × 150I = C = = 0.15A

Δ t 0.01
  

#1mH10μF
π200 - 10 - 100 - 410 

1590.9 Hz 
 
#

A2S
1AS - 1 - 2 - 4
0.5A=4 

#
 

 
#

 
 


baa  



 
aba  

 


Fμ



t
110× 20C = = 9.565μF
110 + 20

 


30-20- 10 

10 Hz  
 

20 Hz
 

30 Hz 
  

 


 

 
 





 

 
RX = 9KΩ =3R3KΩ

RX=3000Ω  

 
Q90 



 
 

 

 

 

 

 

 

 

 

 

    



 

 

 

 
 

 
–– 
 


 
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#1.1×106  m/s 


-10 Οnhr = =2.11×10 =2.11A

2πmv 
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100% -  20%  -  80%  -  90% 
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maxVmax  I-   maxVmax I0.707   -  maxVmax I0.5  -max  VmaxI0.636 
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RLC

2ω 

#h
πmr

r=V 

#0.1S
#1S0.01S 
#0.1S
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#R20% 

80%     -      20%     -      44%    -    40% 

2
العدد

 2
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 2
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 2
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 2
7

 2
3
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1

 
 28 14 7 3 1 0 
 1 0 0 1 1 1 


 

V=VB – Ir R
IrV 

 


 
3eρ - σ - R 

 
3 

3
VOL= A L  

 
BLB
 


 

 
 


emf
 


  

RL4560 

45LXtan45 = = 1
R

 

60LXtan60 = = 3 = 1.732
R

=R1.732 

 CRL45 

45L CX - Xtan45 = = 1
R



XL=XC+R  
 RC30 



30C-Xtan30 = = 0.577
R

= R0.577 

RLCRLC=


Z=R 
VI =
R

V=VR 

 



emf


 

 
 

CX,LX 


 
 

VC=emfmax 
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 



 

 
2 1hν = E - E 

1E2E
E1

 
2E 


 

 
emf 



 
 

 
 

CRT 


 


 


PW=I2R 
 
 


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 

 


  



 




 =θ
V

 



 =
θ
I

 

 
 

 



 
 

 

emf 




 

 
 

 
 

 
 

  100  ٪  
 
 

 


 

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max

VVI = I = sinωt I = I sinωt
R R
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ΔI
Δt

emf
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
 

 


 



 




 
1,0

 



 


 

 


 
 




 
 

 
  Type - n

+
D  n = P + N   





 




 


 
npn


 

 
 





 

 
=

emf= 


 


10 

=10 Ω  
=m.Ω 8-10×1.8m1 

1m2= 1.8×10-8 Ω 
1-m.1-Ω 710×1.5 
1.5×107 Ω-1.m-1


 


1m1m2=1.5×107 Ω-1 



 = 40
40  

=tesla 0.4m1
1A=0.4 N 

 0.4


 
0.4  

0.9 
90  

 % 8 % 92 
92 

= 
=  

=
= 

=3
=3 

1-NmT 0.5
10.5 Nm 

- LX= Ω500=Ω500 
cX=Ω500=Ω500 
 RLC=Hz 50

=50 HzZ=R
 

Fμ1=Cμ1
1V  

RLC= 5 
5

nm1 


1nm  
=19-10×6.89

=6.89×10-19 

1410×6 
6×1014 

8-10×5
=5×10-8 

 S 8-10 


10-8 S 
 V 0.15

=0.15 V  
)0( 
0.98=0.98 
99=99 
RLC

 


 

R = V / I 


V=V1+V2+V3 
 


 

 
 

 
r ωV 
Ωs 





 
 
 



 
V1

 


s\m1T mλ


 
 
λ max 

 
 

 
 
 
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

 


 
 

 
 

30
60 

 
 

-  B= 
 


 

 
emf 

لكѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧسemf = -BLVsinθ 
 -emf 

emfemf 
= 

=45 
 



 
 


emf  




 
 
 
= 

emf 
emf= 

 
 


 

 


 
 

 
 

 
 

–w cE = hν 
 


 
 


 
 
 


 


– 


 

 
 

 


 
 

 
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 

  





 





 

 
  





 




 


 

 


 
 


 
 
 
 

 

 



 
 


 

 


 
–

 
 

 
 

–
 




–
 

 
 



 

–


 
 
 
 


 
–– 


 
 

 
 




 


 

 
 

 
 




\E = hυ - hυ 
 

 
 


2

hν
c

 

 
X 




 
– 

 x
 

–=
 

 
 


 

 






 






 

 


 






 

n-P 
 






BVI =
R

on 

 



I = 0off 

 type-ntype-p 
n-type 

D 

+  n  P  N 

p-type  
A 

-P  n  N 


 
CRT 
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–– 
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––
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I)A( 

C\S
QI =
t

=V\Ω
VI =
R

 =Watt\VwPI =
V

=N\m.T


FI =

BL
=V.S\HΔ Ie m f = - L

Δ t
=Wb\H2mΔ ΔI-N =-L

Δt Δt


=J\Wb N\m.TN.m\Wb= j\vs=j\ΩC 

V)emf()V( 

J\CWV =
Q

=A .ΩV = IRWb\SmΔe m f = - N
Δ t

 

 =Watt\AwPV =
I

=A.H\SΔ Ie m f = - L
Δ t

=T.m2\s 

ABemf = -N
Δt

= N.m\A.S=N.m\C= C . Ω \ S 

B)T( 

Wb\m2mB
A
==N\A.m 

 =V.S\m2 
ABemf = -N
Δt

          =   Ω.C\m2=kg\A.S2 

LM)H( 

V.S\AΔ Ie m f = - L
Δ t

= . S Ω 

Wb\A2mΔ Δ I- N = - L
Δ t Δ t

=J.S\A.C 

mWb 

Volt.SmΔe m f = - N
Δ t

=j.S\CN.m\A=Ω.C 

μ 

T.m\A
μIB =

2πd
(=Wb\A.m  

=N\A2



=H\m=Ω.s\m=V.S\A.m 

h)S.J( 
V.C.S=Waat.S2 = j \Hz =kgm2s-1 =N.m.S 

C)F( 

C\V
QC =
V

=C\A.Ω=J\V2S\Ω 

 J \ SV.A= ( Watt. mΩV.m\A 
A.m2

J\T = N.m\TΩ=V.S\C=V\A 
A.SC = J \ V =V.S\Ω  Radian.S-1

 
J=N.m=VAS=W.S=Kg.m2\s2=T.A.m2=Wb.A 






 

 

 
θ = 90 

 


 


 


 
 Iμ 50 
emfmaxemf 0.636 

max



 

max م

م
م

max

emf = ABN2πF emf = 4ABNF
emf 4ABNF 2 2= = = = 0.636 emf = 0.636emf

emf ABN2πF π 3.14

 

 


 

 






 


 
 


 


 

  2 2
w c c

1 1ΔE = E - E mv = hν - hν mv = h ν - ν
2 2

RLCFμ1H1
Ω40Hz 50

 


1F =

2π LC
 

=159.155Hz 

2 2

1L =
4π F C

 

=10.132 H 


2 2

1C =
4π F L

 

=0.1 μF 
RLLX=CX 
RCCX=LX 

 
 


 
 


 


 



 

 
E h

 wE
ch 

 E wE 
 

 K.E 

 

 




λ 

λ 


 
 

 
 

 X
–

–X 
 




–


hcλ =
ev

 








hcλ =
ΔE

 

–
– 

X 
–– 
 








  

 

 
– 





5s10-3 s 
 

 






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
 

 
 




 


 
 


 

 

 

 
 

 
 

 
 

 

 
 

 
 

 
 
 

 
 

 

 

 

 

 



 

 

 

 

 

 
3х105m\s

 
10 m 10 Cm 

 
 

 
 
 
 

 

 

 

 

 
980mH 

5PF 

 
2019 


